
BPVI-012 No. of Printed Pages : 6 

DIPLOMA IN DAIRY TECHNOLOGY 
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BPVI-012 : DAIRY EQUIPMENT AND UTILITIES 

Time : 2 Hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All questions carry equal 
marks. 

	

1. 	Define any ten of the following terms : 	10x1=10 
(a) Alloy steel 
(b) Protective coating 
(c) Ton of Refrigeration 
(d) Latent heat 
(e) Condensation 
(f) Vacuum 
(g) Dry saturated steam 
(h) Insulation 
(i) Accuracy 
(j) Capillary 
(k) Standardization of milk 
(1) 	Freezing point 

	

2. 	(a) What is a product flow line diagram ? 	3 
(b) Give the list of components of a HTST 	2 

pasteurizer. 
(c) Write the advantages of homogenization of 	2 

milk. 
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(d) Describe the equipments required for cheese 	3 
making. 

	

3. 	(a) Enlist the principles of preventive 	3 
maintenance of dairy plant. 

(b) How the hard deposits are removed from 	2 
the surface of stainless steel ? 

(c) Describe with the help of a neat sketch the 5 
chilled water supply system in a dairy plant. 

	

4. 	(a) What properties are considered for selecting 	2 
suitable insulating material for cold 
storage ? 

(b) Enlist the components of a vapour 	3 
compression refrigeration system. 

(c) Why ammonia is most suitable refrigerant 2 
in a dairy plant ? 

(d) Give the working of a jacketed kettle used 3 
for making ghee and khoa. 

	

5. 	(a) Write the requisites of a good boiler. 	2 
(b) Describe the causes of heat loss during 	3 

generation and utilization of steam. 
(c) Calculate the total heat content of one kg 	5 

of wet saturated steam at 100°C and having 
dryness fraction of 95%. The sensible heat 
of water at 100°C is 419 kJ/kg and latent 
heat of vapourization is 2257 kJ/kg. 

	

6. 	(a) Explain the importance of earthing in 	2 
electric appliances. 

(b) Differentiate between the single phase and 	3 
three phase distribution systems of electric 
energy. 

(c) Explain the working principle of a three 	5 
phase induction motor with a neat sketch. 
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7. 	(a) What are the different parameters on which 	2 
selection of pump depends ? 

(b) What is water softening and why it is 	2 
required ? 

(c) What is Biological Oxygen Demand (BOD) 3 
of waste water ? 

(d) How does a rain harvesting system work ? 	3 

	

8. 	Write short notes on any five of the following : 
(a) Can washer 
(b) Fire tube boiler 
(c) Rotameter 
(d) Homogenizer 
(e) Steam load diagram 
(f) Bulk milk cooler 

5x2=10 
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7. 	(a) 	zi-cr 	rOit faf 	5IfzIC1 C4TPTI-a-{) chl-I t? 	2 
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(a) k9 T7r-{ 

(b) 	 7T4 sliqot 

(c) t1zI411zt  

(d) t-I4-wi *Itch 
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(f)  

5x2=10 
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